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Financial Accounting
(forTrr orata)
Bachelor of Commerce (B. Com.—10/16)
First Year, Examination, 2017

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gls—d
(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. What do you understand by Accounting Principles ?
Explain the various Accounting Principles.

gie RIgral & oY -7 9Eeid § ¢ fafi= ogie
RIgTl @ IRAT DI |

2. What is the meaning of Instalment Payment System ?
What is the difference between Hire-purchase system
and Instalment system ?

e A UghT & R AR € 7 [GRE-my ugh
AR fohed e UghT § F1 IR © 7
3. “Trial Balance is not a conclusive proof of accuracy of

books of accounts.” Do you agree with this statement ?
Explain.

“TAUC oIE-YRAD! B YEaT o < YA TE 2 |
T AT 53 DAY ¥ WA & 7 ARAT I |

4. Prepare Final Accounts of AAG Ltd. for the year
ending 31st March, 2017 from the following :

4 4
Purchase and Sales 70,007 82,500
Sales Returns 505 -
Opening stock 24,600 -
Bad debts 300 -
Depreciation 1,800 -
General Expenses 700 -
Provision for Bad Debts — 1,200
Salaries 3,000 -
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Capital 55,310
Cash 8,708 -
Debtors and Creditors 21,300 20,625
Furniture 4,500 -
Outstanding Salaries - 785
Plant 25,000 —

1,60,420 | 1,60,420

Adjustments :

(1) Closing Stock ¥ 21,499.
(if) Create provision for Bad debts @ 10%.

(iii) Charge Depreciation on plant @ 5%.
31 A4, 2017 P TG & dle d¥ & foly AAG fol.

@ 31f< @ a9 99139
3 3

FDRCRGER 70,007 | 82,500
IGERECIER 505 -
URMRTE TR 24,600 -
3T 0T 300 -
S 1,800 -
AR g 700 -
siferer Feomef graemE - 1,200
EGR] 3,000 -
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LSl 55,310
NETS 8,708 -

qIGN d ofdg} 21,300 20,625
BriTa] 4,500 -

316 da - 785
e 25,000 -

1,60,420 | 1,60,420

RIS
(i) rf~H Bfaar 2 21,499 |
(i) 3R FT TG 10% B & BT YIGUH DI |

(iii) TIUC WX 5% B off é?jl
Section-B / Yls—g

(Short Answer Type Questions) / (eTg] ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

dlc ;. @ve ‘W ¥ A6 (08) oY SR W A W g
TAG Y b faU oM (08) ofp fwiRd
RIERITT a1 §7H § dad IR (04) U=l & IR o
gl

1. What is Accounting ? Explain its main advantages.

GG 1 & ? 39D I AW qarsd |
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Journalise the following transactions in the book of X
& Co. :

4
April 1 | Started Business with Cash 50,000
2 | Cash Purchase 12,000
14 | Wages Paid 2,000
20 | Cash Sales 15,000
25 | Paid Rent 4,000
30 | Plant Purchased 7,000

fferRad oI F-SAf & X UUS . & JoiHEaT H o]
DIFTT

3

A 1 | AP W IR R fham 50,000
2 | 9dhg DY 12,000
14 | 7Tl YT 2,000
20 | g fasn! 15,000
25 | fobxTaT YTei 4,000
30 | wI9C Y 7,000

Define the difference between Revenue and Capital
Expenses.

ST AT YoiiTa @t # SR qaTgd |

Differentiate between Consignment and Joint Venture
Accounts.

UYOT 3R YT e TN H IR g |

Differentiate between Reserve and Provision.

Y 3R g H 3R §arsy |
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6. Enter the following transactions in a Cash Book with
two column viz. Cash and Bank :

2017 3
Jan., 1 Opening Balance of Cash 150
Jan., 1 Bank Overdraft 1,000
Jan., 2 Good Sold for Cash 3,000
Jan., 4 Cash deposited into Bank 3,000
Jan., 6 Rent paid in Cash 100
Jan., 30  Salary Paid by Cheque 250
Rl oF-sAT @1 @ @i el Yde a8 Ff
hE AR 96 | of@ B

2017 3
AN 1 URME 9 150
SMA 1 d rfafdey 1,000
SHa 2 FAhg Al fdshd 3,000
SMARI4  §F H q6e o fhar 3,000
SHA 6 TAdhe fawmn faar 100
SMAXI30  daH dd g foa 250

7. Explain the objects of Branch Accounts.

IR oG & S T |

8. What is Error ? Define Compensatory error.

agfe @ B ? afaufd @ /s 1 oo ST |
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Section-C / Yvs—TT

(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc ;. @vs T ¥ g9 (10) TS WA [ W 2| RS
7 3 forw Te (01) 3o FEiRd 21 39 WTe @
ol w3 aifad 2

Choose the correct answer :

el SR BT TIT DIV

1. The father of modern form of Accountancy is :
(@ Lucas Pacioli
(b) Henry Fayol
(c) W.R. Nickson
(d) Spicer and Pegeer
GG & AY(TH WHY & AR ¢ -
(@) gHa Ul
@ TN waA
(@) Sy, IR M
() ISR VT Yok

2. Accounting is the language of :
(@) Society
(b) Business
(c) Government

(d) None of the above
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WW%
(31) HTS DI
(@) <mUR o
(@) WER DI
Sy H H Bl el

3. State which of the following equations is correct ?
(@ Owner’s Equity = Assets + Liabilities
(b) Assets = Owner’s Equity + Liabilities
(c) Liabilities = Owner’ Equity + Assets
(d) None of the above
qargy ffrlad # | -1 aHaRT W § ?
) @ Il = §AR + ST
@ ¥Ry = @ Gel + S
(@) <@ = w@rl Yo + JRi
ST § P
4. The methods for finding Profit in Case of Dependent
Branches are :

@ Two

(b) Three

(c) Four

(d) Five

M INRETA & el § o ST el ol fafert €
@)

@ d=

(@) TR
) U

a3

B-3

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

http://www.uouonline.com
[9] BC-01

5. If the Head Office sends goods to the branch at cost +
25% the Head Office will adjust by :

(@) 16.66%
(b) 20%
() 25%
(d) 33.33%
A J PRI ARG BT AT AT + 25% TR Hordl
%, 1 390! T SR FAEITd B -
(31) 16.66%
@) 20%
(@) 25%
() 33.33%
6. Joint Venture Account is :
(@ Personal
(b) Real
(c) Nominal
(d) None of these
e AEd G g -
(31) eafatera
(@) aretad
(|) T
(@) T 9 @I T
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7. Under the instalment payment system the

responsibility of repairs of asset is of :

(@ Purchaser

(b) Vendor

(c) Both of Purchaser and Vendor

(d) None of the above

fed YTaM g & WA @ERT B ARG @

SR FrferRad 7 9 fdwe i g ?

(1) sbar @

(@ fagar @

(@) har g fagdr SHT @

@) SR A W P
8. Under what concepts of trader charges depreciation on

his fixed asset every year ?
(@) Cost concept

(b) Matching concept
(c) Dual Aspect concept
(d) Concept of Uniformity

THh AMURY 70T @l JaRy W yfaay g/ &1 T
fohe STTETRUT & SR TR FRAT & ?

(31) FTd fgeron

(@) Srgwudr fgErRom
() fg-uer sm@umom

(3) TPwUT BT AR
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9. It is necessary for Accounting Principles that there
should be :

(@ Relevance

(b) Objectivity

(c) Practicability

(d) All of the above

ogie Riged @ fory amavas € fb 399 &1
(@) g

@ awgfre

GCERRG

() wwda W

10. Which of the following is not the method of
depreciation ?

(@ Annuity method

(b) Written down value method
(c) Straight line method

(d) None of the above

frfoRed # 9 o g faem @ ugfa T2
g7

(1) arfier faf

(@ wrra 9 Il

(@) e Y fafer

() SUYF # | BIS T
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